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1. Figure shows a plot whose dimensions are

given. Find the perimeter of the plot.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S4DK9DYbfgyC
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o Watch Video Solution

2.Figure shows an octagon whose dimensions

are given. Find its perimeter.
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o Watch Video Solution



https://dl.doubtnut.com/l/_S4DK9DYbfgyC
https://dl.doubtnut.com/l/_SaVhkoEAfFqq

3. Find the perimeter of a rectangle whose
length and breadth are 5m and 2m

respectively.

o Watch Video Solution

4.Find the perimeter of a triangular park if all
of its side are equal and measure of a side is

3.5 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_SaVhkoEAfFqq
https://dl.doubtnut.com/l/_Q5NfTFvXiGDJ
https://dl.doubtnut.com/l/_XkrYtbfO6jLb

5. Find the perimeter (in m) of square of side

150 cm.

o Watch Video Solution

6. If perimeter of a regular hexagon is 108 cm,

what is the length of its sides ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XkrYtbfO6jLb
https://dl.doubtnut.com/l/_BnIcYG36ckVI
https://dl.doubtnut.com/l/_Ju3lNb9m9AcL

7.Find the area of a rectangle whose length is

4.8 cm and breadth is 3.2 cm.

° Watch Video Solution

8. A rectangular piece of cloth has area
432cm?. If its length is 16 cm long. Find its

breadth.

° Watch Video Solution



https://dl.doubtnut.com/l/_47J4r11XvWDV
https://dl.doubtnut.com/l/_UfJQEjbaJ4Lq

9. What will be the area of square of side 7 cm

?

o Watch Video Solution

10. The area of a rectangular sheet is 750 cm?.

If the length of the sheet is 25 cm, then what

is its width ?

o Watch Video Solution



https://dl.doubtnut.com/l/_a0ylbmaS3VEo
https://dl.doubtnut.com/l/_gccazPgSusde

11. Find the area of a rectangular sheet whose

length is 3 m and breadth is 2 m.

o Watch Video Solution

Solved Examples


https://dl.doubtnut.com/l/_i5ckSdHXU70p

1. Find the perimeter of the following figure :

° Watch Video Solution

2. Find the area of the following figure by

counting squares.


https://dl.doubtnut.com/l/_Sx9zrGRVEuRl
https://dl.doubtnut.com/l/_CmBjLeyiEpLp

° Watch Video Solution

3. A rectangular field is 80 m by 70 m. A man
walks round it at the rate of 3 km per hour.

What time will he take in making 5 rounds ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_CmBjLeyiEpLp
https://dl.doubtnut.com/l/_jQascVqzQA1C

4. Split the following shape into rectangles

and find the area (in sq. cm).
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o Watch Video Solution



https://dl.doubtnut.com/l/_jQascVqzQA1C
https://dl.doubtnut.com/l/_I370mNMQ5Fku

5. A piece of rope is 42 cm long. What will be
the length of each side if the rope is used to
form:

an equilateral triangle ?

o Watch Video Solution

6. A piece of rope is 42 cm long. What will be
the length of each side if the rope is used to
form:

a regular hexagon ?

| & I


https://dl.doubtnut.com/l/_ZOe6FQI08ncJ
https://dl.doubtnut.com/l/_IsSYP0jQDeSF

| ¥ Watch Video Solution |

7.Find the area and the perimeter of a square

each of whose sides is 6.3 cm long.

° Watch Video Solution

8.Find the perimeter of the given figure : BCDE

is a square and ABC is an equilateral triangle.


https://dl.doubtnut.com/l/_IsSYP0jQDeSF
https://dl.doubtnut.com/l/_92x11dj6FvAi
https://dl.doubtnut.com/l/_nI0DRppQhlUR

T7.5% em

° Watch Video Solution

9. How many marble tiles of 12¢m x 3em will
be needed to fit in a rectangular region of

length 90 cm and breadth 40 cm ?



https://dl.doubtnut.com/l/_nI0DRppQhlUR
https://dl.doubtnut.com/l/_s7uoXAB7lTwb

I 0 Watch Video Solution I

10. Two plots of land have the same perimeter.
One is square of side 60 m while the other is a
rectangle whose breadth is 15 m. Which of the

plots as greater area and by how much ?

o Watch Video Solution

11. The length and the breadth of a rectangle
are in the ratio 3:2. If its perimeter is 30 cm,

find its dimensions.


https://dl.doubtnut.com/l/_s7uoXAB7lTwb
https://dl.doubtnut.com/l/_lphpTTFN21vp
https://dl.doubtnut.com/l/_k4rE5UvtFVXm

° Watch Video Solution

12. Find the distance walked by Arshu if he
walks three rounds of a square park of side 60

m.

° Watch Video Solution

13. The length and breadth of a room are 6 m
and 4m respectively. How many square metres

of carpet are required to completely cover the


https://dl.doubtnut.com/l/_k4rE5UvtFVXm
https://dl.doubtnut.com/l/_dGIWVaxHP1oV
https://dl.doubtnut.com/l/_96hD0AB79bDU

floor of the room ? If the carpet costsRs. 240 a
square metre, how much will it cost to cover

the entire room ?

o Watch Video Solution

14. The total cost of flooring a room at Rs. 8.50
per square metre is Rs. 510. If the length of the

room is 8 metres, find its breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_96hD0AB79bDU
https://dl.doubtnut.com/l/_EYTuw6B4C64J

15. A farmer has a rectangular field which
measures 350 m by 240 m. He hopes that by
sowing a variety of wheat, the yield will be 25
quintals per hectare. And it will sell in the
market at Rs. 160 per quintal. What will be his

expected income ?

o Watch Video Solution

16. A rectangular courtyard is 3m 78 cm long

and 5m 25 cm broad. It is desired to prove it


https://dl.doubtnut.com/l/_K8Y80tShlvWO
https://dl.doubtnut.com/l/_Ul6ngyHf497F

with square tiles of the same size. What is the
largest size of the tile that can be used ? Also

find the number of such tiles.

o Watch Video Solution

Ncert Section Exercise 10 1

1. Find the perimeter of each of the following

figure :


https://dl.doubtnut.com/l/_Ul6ngyHf497F
https://dl.doubtnut.com/l/_dNeexSTLR262

o Watch Video Solution

2. Find the perimeter of each of the following

figure :

41 1T


https://dl.doubtnut.com/l/_dNeexSTLR262
https://dl.doubtnut.com/l/_uDBomHbzNmly

° Watch Video Solution

3. Find the perimeter of each of the following

figure :

° Watch Video Solution



https://dl.doubtnut.com/l/_uDBomHbzNmly
https://dl.doubtnut.com/l/_rSVyiPp1h0oW

4. Find the perimeter of each of the following

figure :

£ MMM

o Watch Video Solution



https://dl.doubtnut.com/l/_ronyHUXVuBnc

5. Find the perimeter of each of the following

figure :

o Watch Video Solution

6. Find the perimeter of each of the following

figure :


https://dl.doubtnut.com/l/_ZXOnN46efbk6
https://dl.doubtnut.com/l/_5s2fJapfzVIu

° Watch Video Solution

7.2.The lid of a rectangular box of sides 40 cm
by 10 cm is sealed all round with tape. What is

the length of the tape required?

° Watch Video Solution



https://dl.doubtnut.com/l/_5s2fJapfzVIu
https://dl.doubtnut.com/l/_LgggiKrsxKte

8. A rectangular pool measures 20m by 10m .

What is the perimeter of the pool ?

o Watch Video Solution

9. What is the length of the wooden strip
required to frame a photograph of length and

breadth 32 cm and 21 cm respectively?

o Watch Video Solution



https://dl.doubtnut.com/l/_LgggiKrsxKte
https://dl.doubtnut.com/l/_xKIKqFnXJUMZ
https://dl.doubtnut.com/l/_ubYgq86Bpoay
https://dl.doubtnut.com/l/_LbHfs2ZDuSt7

10. A rectangular piece of land measures 0.7
km by 0.5 km. Each side is to be fenced with 4
rows of wires. What is the length of the wire

needed?

° Watch Video Solution

11. Find the perimeter of each of the following
shapes :

A triangle of sides 3 cm,4 cm and 5 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_LbHfs2ZDuSt7
https://dl.doubtnut.com/l/_xQlKimnMyruB

12. Find the perimeter of each of the following
shapes :

An equilateral triangle of side 9 cm.

o Watch Video Solution

13. Find the perimeter of each of the following
shapes :
An isosceles triangle with equal sides 8 cm

each and third side 6 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_ac7Ap6rpxmpS
https://dl.doubtnut.com/l/_4fzQtxCWTotD

14. Find the perimeter of a triangle with sides

measuring 10 cm, 14 cm and 15 cm.

o Watch Video Solution

15. Find the perimeter of a square with each

side measuring 4 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_4fzQtxCWTotD
https://dl.doubtnut.com/l/_zyn4BBR1t1Ud
https://dl.doubtnut.com/l/_ogRDbudoFGnI

16. Find the side of the regular hexagon whose

perimeter is 36 m.

o Watch Video Solution

17. The perimeter of a regular pentagon is 250

cm. How long is its each side ?

o Watch Video Solution



https://dl.doubtnut.com/l/_C9uxo73wocKu
https://dl.doubtnut.com/l/_VsFHYPCnqLuJ

18. A piece of string is 30 cm long. What will be
the length of each side if the string is used to
form:

a square ?

o Watch Video Solution

19. A piece of string is 30 cm long. What will be
the length of each side if the string is used to
form:

an equilateral triangle ?

| & I


https://dl.doubtnut.com/l/_PbCelNnBQdDE
https://dl.doubtnut.com/l/_C49VxnGudJ0m

| ¥ Watch Video Solution |

20. A piece of string is 30 cm long. What will
be the length of each side if the string is used
to form:

a regular hexagon ?

o Watch Video Solution

21. One side of an isosceles triangle is 16 cm .
The perimeter of the triangle is 40 cm. Find

the other two sides ?


https://dl.doubtnut.com/l/_C49VxnGudJ0m
https://dl.doubtnut.com/l/_vxAR5PzmIC78
https://dl.doubtnut.com/l/_gdpcv10IIhjY

° Watch Video Solution

22. Find the cost of fencing a square park of

side 250 m at the rate of Rs. 20 per metre.

o Watch Video Solution

23. Find the cost of fencing a rectangular park
of length 1775m and breadth 125m at the rate

of Rs. 12 per meter.

o Watch Video Solution



https://dl.doubtnut.com/l/_gdpcv10IIhjY
https://dl.doubtnut.com/l/_37XAiAWJLYN2
https://dl.doubtnut.com/l/_L7EVrsG5ZmZ5

24. Sweety runs around a square park of side
75 m. Bulbul runs around a rectangular park
with length 60 m and breadth 45 m. Who

covers less distance?

° Watch Video Solution

25. What is the perimeter of each of the

following figures ?


https://dl.doubtnut.com/l/_L7EVrsG5ZmZ5
https://dl.doubtnut.com/l/_UzKTTJVThQcr
https://dl.doubtnut.com/l/_TPvG0uRzdcZH

M oem
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o Watch Video Solution

26. What is the perimeter of each of the

following figures ?


https://dl.doubtnut.com/l/_TPvG0uRzdcZH
https://dl.doubtnut.com/l/_nCsfMzwMCfSj

3

° Watch Video Solution

27. What is the perimeter of each of the

following figures ?


https://dl.doubtnut.com/l/_nCsfMzwMCfSj
https://dl.doubtnut.com/l/_y6X63hPC6Eqq

s g
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° Watch Video Solution

28. What is the perimeter of each of the

following figures ?


https://dl.doubtnut.com/l/_y6X63hPC6Eqq
https://dl.doubtnut.com/l/_6Z0DXerNUGex

1

o Watch Video Solution

29. Avneet buys 9 square paving slabs, each
with a side of 5 He lays them in the form of
a square. (a) What is the perimeter of his

arrangement.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Z0DXerNUGex
https://dl.doubtnut.com/l/_NCib41av9hYl

30. Avneet buys 9 square paving slabs, each
with a side of 5 He lays them in the form of
a square.

Shari does not like his arrangement. She gets
him to lay them out like a cross. What is the

perimeter of her arrangement [see fig. (ii)]

o Watch Video Solution



https://dl.doubtnut.com/l/_NCib41av9hYl
https://dl.doubtnut.com/l/_nWx5MJ2rx1BE

31. Avneet buys 9 square paving slabs, each
with a side of 5 He lays them in the form of
a square.

Which has greater perimeter ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nWx5MJ2rx1BE
https://dl.doubtnut.com/l/_1Jhtpu4Hy1Dn

32. Avneet buys 9 square paving slabs, each
with a side of 3m- He lays them in the form
of a square. What is the perimeter of his
arrangement? Shari does not like his
arrangement. She gets him to lay them out
like a cross. What is the perimeter of her
arrangement? Which has greater perimeter?
Avneet wonders, if there is a way of getting an
even greater perimeter. Can you find a way of
doing this? (The paving slabs must meet along

complete edges they cannot be broken).

° Watch Video Solution



https://dl.doubtnut.com/l/_8AEXQyaNuWKQ

Ncert Section Exercise 10 2

1. Find the areas of the following figures by

counting square:

(a



https://dl.doubtnut.com/l/_8AEXQyaNuWKQ
https://dl.doubtnut.com/l/_91OBaLFBqkdN

| & Watch Video Solution

2. Find the areas of the following figures by

counting square:

(B



https://dl.doubtnut.com/l/_91OBaLFBqkdN
https://dl.doubtnut.com/l/_ZnYXfkeyg6Aa

| & Watch Video Solution

3. Find the areas of the following figures by

counting square:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZnYXfkeyg6Aa
https://dl.doubtnut.com/l/_37p4OXRtlXTV

4. Find the areas of the following figures by

counting square:

l O Watch Video Solution


https://dl.doubtnut.com/l/_vfwTepjHF0CL

5. Find the areas of the following figures by

counting square:

° Watch Video Solution



https://dl.doubtnut.com/l/_vfwTepjHF0CL
https://dl.doubtnut.com/l/_5TFvs75fFXSo

6. Find the areas of the following figures by

counting square :

o Watch Video Solution

7. Find the areas of the following figures by

counting square:


https://dl.doubtnut.com/l/_j8jsOw1JzauY
https://dl.doubtnut.com/l/_lYcBaJufYpFD

o Watch Video Solution

8. Find the areas of the following figures by

counting square :


https://dl.doubtnut.com/l/_lYcBaJufYpFD
https://dl.doubtnut.com/l/_Khiaf8UUP4lV

o Watch Video Solution

9. Find the areas of the following figures by

counting square:


https://dl.doubtnut.com/l/_Khiaf8UUP4lV
https://dl.doubtnut.com/l/_jdc0PrQBaFzn

° Watch Video Solution

10. Find the areas of the following figures by

counting square :


https://dl.doubtnut.com/l/_jdc0PrQBaFzn
https://dl.doubtnut.com/l/_PzrsrO8aACek

o Watch Video Solution

11. Find the areas of the following figures by

counting square :


https://dl.doubtnut.com/l/_PzrsrO8aACek
https://dl.doubtnut.com/l/_sWbnjDD0T6Th

o Watch Video Solution

12. Find the areas of the following figures by

counting square:


https://dl.doubtnut.com/l/_sWbnjDD0T6Th
https://dl.doubtnut.com/l/_vXsoS7s2S86T

° View Text Solution

13. Find the areas of the following figures by

counting square:


https://dl.doubtnut.com/l/_vXsoS7s2S86T
https://dl.doubtnut.com/l/_Z4TSpKGcxAdw

t‘.f“

o View Text Solution

14. Find the areas of the following figures by

counting square:


https://dl.doubtnut.com/l/_Z4TSpKGcxAdw
https://dl.doubtnut.com/l/_v0r7Pb7luCyx

° Watch Video Solution

Ncert Section Exercise 10 3

1. Find the areas of the rectangles whose sides

are:


https://dl.doubtnut.com/l/_v0r7Pb7luCyx
https://dl.doubtnut.com/l/_hB5ziYNUI08r

3cmand 4 cm

o Watch Video Solution

2.Find the areas of the rectangles whose sides
are:

12 mand 21 m

o Watch Video Solution

3. Find the areas of the rectangles whose sides

are:


https://dl.doubtnut.com/l/_hB5ziYNUI08r
https://dl.doubtnut.com/l/_X6xgxKh0QrBc
https://dl.doubtnut.com/l/_vdhqZ75WTRgW

2km and 3 km

o Watch Video Solution

4.Find the areas of the rectangles whose sides
are:

2m and 70 cm

o Watch Video Solution

5. Find the areas of the squares whose sides

are:


https://dl.doubtnut.com/l/_vdhqZ75WTRgW
https://dl.doubtnut.com/l/_hvXE7EwM7bTa
https://dl.doubtnut.com/l/_XyH2KNEXZwcI

10 cm

o Watch Video Solution

6. Find the areas of the squares whose sides
are:

14 cm

o Watch Video Solution

7. Find the areas of the squares whose sides

are:


https://dl.doubtnut.com/l/_XyH2KNEXZwcI
https://dl.doubtnut.com/l/_2Al3GQ8NNgmU
https://dl.doubtnut.com/l/_51Lt6EajDAWO

8m

o Watch Video Solution

8. The length and breadth of a rectangle is
given below :
9mand 6m

Find its area ?

° Watch Video Solution



https://dl.doubtnut.com/l/_51Lt6EajDAWO
https://dl.doubtnut.com/l/_cyTyhNIzuV1t

9. The length and breadth of a rectangle is
given below :
17 mand 3 m

Find its area ?

o Watch Video Solution

10. The length and breadth of three rectangles
are as given below : (a) 9 m and 6 m (b) 177 m
and 3 m (c) 4 m and 14 m Which one has the

largest area and which one has the smallest?

| & I


https://dl.doubtnut.com/l/_YM9Ep3L3a5z0
https://dl.doubtnut.com/l/_dkJ3JIrphNCu

| ¥ Watch Video Solution |

11. The area of a rectangular garden 50m long

is 300sq m. Find the width of the garden.

o Watch Video Solution

12. What is the cost of tiling a rectangular plot
of land 500 m long and 200 m wide at the rate

of Rs 8 per hundred sq m.?

o Watch Video Solution



https://dl.doubtnut.com/l/_dkJ3JIrphNCu
https://dl.doubtnut.com/l/_xZZcRZu4uF1e
https://dl.doubtnut.com/l/_RXvycg4UcyJ7

13. A table-top measures 2 m by 1T m 50 cm.

What is its area in square metres?

° Watch Video Solution

14. A room is 4 m long and 3 m 50 cm wide.
How many square metres of carpet is needed

to cover the floor of the room?

° Watch Video Solution



https://dl.doubtnut.com/l/_LweArdHlDxyK
https://dl.doubtnut.com/l/_3nuFTinZ1Cjg

15. A floor is 5 m long and 4 m wide. A square
carpet of sides 3 m is laid on the floor. Find the

area of the floor that is not carpeted.

o Watch Video Solution

16. Five square flower beds each of sides 1 m
are dug on a piece of land 5 m long and 4 m
wide. What is the area of the remaining part of

the land?

° Watch Video Solution



https://dl.doubtnut.com/l/_twZ3kitwCJ5F
https://dl.doubtnut.com/l/_boVcTUpaMiEj

17. By splitting the following figures into
rectangles, find their areas (The measures are

given in centimetres).

° Watch Video Solution

18. By splitting the following figures into
rectangles, find their areas (The measures are

given in centimetres).

° Watch Video Solution



https://dl.doubtnut.com/l/_boVcTUpaMiEj
https://dl.doubtnut.com/l/_SOjE1bEEYOIr
https://dl.doubtnut.com/l/_L6mncFWNrHtb

19. Split the following shapes into rectangles
and find their areas. (The measures are given

in centimetres)

o Watch Video Solution

20. Split the following shapes into rectangles
and find their areas. (The measures are given

in centimetres)

o Watch Video Solution



https://dl.doubtnut.com/l/_PEZOIF7KoThA
https://dl.doubtnut.com/l/_58S2g3ZGZQ73
https://dl.doubtnut.com/l/_jI8h6xi3WAXQ

21. Split the following shapes into rectangles
and find their areas. (The measures are given

in centimetres)

o Watch Video Solution

22. How many tiles whose length and breadth
are 12 cm and 5 cm respectively will be needed
to fit in a rectangular region whose length and
breadth are respectively: (a) 100 cm and 144

cm (b) 70 cm and 36 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_jI8h6xi3WAXQ
https://dl.doubtnut.com/l/_K9JYfSiTs7T0

23. How many tiles whose length and breadth
are 12 cm and 5 cm respectively will be needed
to fit in a rectangular region whose length and
breadth are respectively: (a) 100 cm and 144

cm (b) 70 cm and 36 cm.

o Watch Video Solution

Exercise Multiple Choice Questions Level |



https://dl.doubtnut.com/l/_K9JYfSiTs7T0
https://dl.doubtnut.com/l/_iPIHAjPv0kSs

1. Each side of a square measures 5.6 cm. The

perimeter of the square is

A.23.5cm

B.22 cm

C.224 cm

D. 22.4cm?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gFJaUU6GIkFn
https://dl.doubtnut.com/l/_ljyrdKSW3FTv

2. The area of the square of side 12 cm is

A. 144 cm

B. 144 sq.cm

C.48 cm

D. 48 sq.cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ljyrdKSW3FTv

3. Each side of a regular hexagon is 9.6 cm.

Find its perimeter.

A.576sq.cm

B.1.6sq.cm

C.1.6cm

D.57.6 cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4Ea21y9Cdru2
https://dl.doubtnut.com/l/_XllezSPRaqYC

4. What is the perimeter of the following

figure?
| I
i )
i
II T —— e — I
1 ‘ \ 1
| |
.
A. 24 units
B. 26 units
C. 12 units

D. 22 units


https://dl.doubtnut.com/l/_XllezSPRaqYC

Answer: D

o Watch Video Solution

2

5.How many c¢m? are there in 1m? ?

A.100

B. 1000

C.10

D. 10000

Answer: D


https://dl.doubtnut.com/l/_XllezSPRaqYC
https://dl.doubtnut.com/l/_II8j2ScDRbWr

° Watch Video Solution

6. The distance around a closed figure is called

A. Volume

B. Area

C. Perimeter

D. None of these

Answer: C

| 8 l


https://dl.doubtnut.com/l/_II8j2ScDRbWr
https://dl.doubtnut.com/l/_XKSD30hKs5A1

7. What is the length of side of a regular

pentagon having perimeter 535 cm?

A. 1.7 cm

B.26.75 cm

C.1.07 cm

D. 107 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XKSD30hKs5A1
https://dl.doubtnut.com/l/_K5wFYEWBgMbD

8. What is the area of the rectangle with

length | and breadth b?

A.2(l — b)
B.2(! + b)
C.2(1 x b)

D.l x b

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_K5wFYEWBgMbD
https://dl.doubtnut.com/l/_OLXiLab1pB8Z

9. What is the perimeter of an isosceles
triangle with equal sides 9 cm each and the
third side 5 cm?

A.40 cm

B.23 cm

C.22cm

D. 69 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TJ7nXcuwEwhG

10. What is the length of a rectangle with area

12.5m> and the breadth 5 m?

A.25m

B.2.5m

C.2.5m?>

D.62.5m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jTSO6Vb3Dzw8
https://dl.doubtnut.com/l/_kmMEIqqXiu4B

11. The sum of all the sides of a closed plane

figure is

A. Perimeter

B. Volume

C. Area

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kmMEIqqXiu4B

12. The shape whose perimeter is four times

the length of its side is

A. Pentagon

B. Hexagon

C. Rectangle

D. Square

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QtV7qd0i5D9H
https://dl.doubtnut.com/l/_6JE0upGjsuGr

13. Length of 13 - sided regular figure whose

perimeter is 169 cm, is

A.13 cm

B. 52cm/?

C.13cm?

D.52 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6JE0upGjsuGr

14. The perimeter of a rectangle with length |

and breadth b is

A.2(l x b)
B.2(l — b)
C.2(1 + b)

D.l 4+ b

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dMOv8l9VljSv
https://dl.doubtnut.com/l/_azMnGUltEPO9

15. The area of a piece of cloth which is 2 m

long and 1 m 30 cm wide is

A. 330cm?

B. 6600cm>

C. 26000cm >

D. 2600072

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_azMnGUltEPO9

16. Perimeter of regular octagon is

A.4 x length of one side

B.6 X length of one side

C.8 x length of one side

D.7 x length of one side

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sGxTwq99lMbc

17. The cost of fencing a 15m X Tm

rectangular park at * 45 per metre is

A.Rs. 4275

B.Rs. 4725

C. Rs. 1980

D. Rs. 5427

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GgL1wqgB41er
https://dl.doubtnut.com/l/_lMQwAeOqnZbD

18. If the area of a rectangle is 52.4m?, then its

possible dimensions are

A.151m,4 m
B.26.2 m,4 m
C.158 m,8 m

D.131m,4 m

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lMQwAeOqnZbD

19. The area of a square with perimeter 40 cm

A. 1600 sqg.cm

B.10 sq. cm

C.100 sq.cm

D. 250 sq. cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hBLQxb325Nn5
https://dl.doubtnut.com/l/_IhLyGzFvbsN7

20. Distance covered in moving 3 rounds of

square park of side 5m is

A.20m

B.60 m

C.15m

D.30m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IhLyGzFvbsN7

21. What is the perimeter of a regular

pentagon with a side of 3.5cm ?

A.17.5 cm

B.28 cm

C.15cm

D.12.25 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NOjqQr1ILZTs
https://dl.doubtnut.com/l/_Nq7SuwvavY2g

22. What is the area of a square having side of

21cm ?

A. 112 cm

B.321 cm

C.441 cm

D.121 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Nq7SuwvavY2g

23. Which of the following is the area of the

rectangle whose length is 4.2 cm and breadth

is1.3cm?

A. 6.23cm?>

B. 11cm?

C.5.46¢cm>

D. 3.56¢cm>

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FYK8elyrSBLJ

24. The length of each side of an equilateral

triangle formed with a wire of length 96 cm

A. 23 cm

B.32 cm

C.28 cm

D. 96 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_n87XAIL7yieB

25. The area of a rectangle is 108cm?. If its

length is 12 cm. The breadth of a rectangle is
A.12 cm
B.19 cm
C.9cm

D.90 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WGA8LmoNVzFb

26. Somesh wants to fence a rectangular field
of length 150 m and breadth 80 m with four
rounds of rope. What is the total length of
rope he must use?

A.460 m

B.1840 m

C.920m

D.380 m

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_mDX2lM7AgsNE

27. How many square metre of glass will be
required for windows, which has 15 panes,
each measuring 16 cm by 15 cm?

A. 0.36cm”

B. 360cm”

C. 36cm?

D. 3600cm>

Answer: D

| s ]


https://dl.doubtnut.com/l/_mDX2lM7AgsNE
https://dl.doubtnut.com/l/_R6zPjSMvkGba

| ¥ Watch Video Solution ]

28. The perimeter of a regular nonagon is 513

cm. How long is its each side?

A.57 cm

B.171 cm

C.64 cm

D. 53 cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R6zPjSMvkGba
https://dl.doubtnut.com/l/_T0nGCxAs4jOn

29. The perimeter of a rectangle is 200 cm and

its breadth is 36 cm. Find the area of the

rectangle.

A. 7200cm?

B. 2304cm/?

C. 360cm?

D. 18040cm>

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_T0nGCxAs4jOn
https://dl.doubtnut.com/l/_tnI8lgyV3qi4

30. Find the area of square whose perimeter is

96 m.

A. 384m>

B. 576m>

C. 2304m>

D. 144m>

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tnI8lgyV3qi4
https://dl.doubtnut.com/l/_Te6VLSqpXixh

31. If the area of a square is 144cm? and its
perimeter is the same as the perimeter of an
equilateral triangle, then what is the length of
each side of the triangle?

A.12 cm

B.16 cm

C.8 cm

D. 14 cm

Answer: B



https://dl.doubtnut.com/l/_Te6VLSqpXixh
https://dl.doubtnut.com/l/_it4AOS2dAqm7

\ o Watch Video Solution

32. What is the length of a rectangle with area

7m?and breadth 2.5 m?

A.25m

B.0.025 m

C.25m

D.2.8 m

Answer: D

l ° Watch Video Solution


https://dl.doubtnut.com/l/_it4AOS2dAqm7
https://dl.doubtnut.com/l/_vwY2nVeW7ZBo

33. The perimeter of a triangle is 115 cm. If two

of its sides are 35 cm and 37 cm. Find the third

side of the triangle.

A.43 cm

B.73 cm

C.35cm

D.37 cm

Answer: A

| = |


https://dl.doubtnut.com/l/_vwY2nVeW7ZBo
https://dl.doubtnut.com/l/_qKrxTw09uJks

I &9 Watch Video Solution I

34. A triangular garden needs to be fenced. If

the length of the sides of the garden are 233

m, 225 m and 342 m, find the cost of fencing it

at the rate of Rs. 35 per metre.

A. Rs. 2800

B. Rs. 28000

C.Rs. 27035

D. Rs. 28035


https://dl.doubtnut.com/l/_qKrxTw09uJks
https://dl.doubtnut.com/l/_Qk1vdDB0CmXI

Answer: B

o Watch Video Solution

35. The cost of fencing a square field is Rs. 1976

at the rate of Rs. 26 per metre. What is the

length of each side of the field?

A. 18 m

B.19m

C. 20m

D.13 m


https://dl.doubtnut.com/l/_Qk1vdDB0CmXI
https://dl.doubtnut.com/l/_SbN2Pf57PbzX

Answer: B

o Watch Video Solution

Exercise Multiple Choice Questions Level li

1. The cost of fencing a rectangular field at Rs.

8.50 per metre is Rs. 850. If its length is 32 m,

find its breadth.

A.18 m

B.10 m


https://dl.doubtnut.com/l/_SbN2Pf57PbzX
https://dl.doubtnut.com/l/_M4MkA6JrtA7F

C.8m

D.12 m

Answer: A

o Watch Video Solution

2. The side of a regular pentagonal shaped
matallic wire measures 12 cm. If the wire is
stretched out and made into a rectangle of
width 12 cm, what will be the area of the

rectangle?


https://dl.doubtnut.com/l/_M4MkA6JrtA7F
https://dl.doubtnut.com/l/_5MzO80C6cUZV

A.216sqg.cm

B. 144 sq.cm

C.324 sq.cm

D.72 sq.cm

Answer: A

o Watch Video Solution

3. The side of the square is 6 cm. Two

equilateral triangles are drawn as shown here.


https://dl.doubtnut.com/l/_5MzO80C6cUZV
https://dl.doubtnut.com/l/_1AGlxLVfrP12

Find the perimeter of the figure.

A. 60 cm

B.36 cm

C.42 cm

D.48 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1AGlxLVfrP12
https://dl.doubtnut.com/l/_npRyju3lGwHx

4.The side of an equilateral triangle measures

72 cm which is equal to the perimeter of a

square shape. What is the length of the side of

the square?

A.18 cm

B.36 cm

C.54 cm

D. 108 cm

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_npRyju3lGwHx

5. How many bricks whose length and breadth

are 12 cm and 6 cm, respectively, will be

needed to fit in a rectangular region that

measures 90cm x 120cm ?

A. 200

B. 150

C. 250

D. 100


https://dl.doubtnut.com/l/_npRyju3lGwHx
https://dl.doubtnut.com/l/_oyMuVEYmMnDa

Answer: B

o Watch Video Solution

6. The cost of flooring a rectangular room is
Rs. 5698. The rate of flooring is Rs. 37 per
square metre. If the room is 14 metres long,

what is the breadth of the room?

A.10m

B.11m

C.13 m


https://dl.doubtnut.com/l/_oyMuVEYmMnDa
https://dl.doubtnut.com/l/_UQQMnW1jIp7N

D.12 m

Answer: B

° Watch Video Solution

7. Riya wants to cover the floor of a hall 15 m
long and 4 m wide with square tiles. If each
square tile is of side 25 cm, find the number of

tiles required to cover the floor of the room.

A. 216


https://dl.doubtnut.com/l/_UQQMnW1jIp7N
https://dl.doubtnut.com/l/_59hgtW1OxWeN

B. 625

C. 600

D. 960

Answer: D

o Watch Video Solution

8. A rectangle has an area of 144cm?. If the
length is 7 cm more than the breadth of the

rectangle. Find the sides of the rectangle.


https://dl.doubtnut.com/l/_59hgtW1OxWeN
https://dl.doubtnut.com/l/_yOhUfvV9Jd2x

A.12 cm

B.9cm

C.16 cm

D.15 cm

Answer: B

o Watch Video Solution

2

9. A square of area 100cm” has the same

perimeter as of a regular pentagon. What is


https://dl.doubtnut.com/l/_yOhUfvV9Jd2x
https://dl.doubtnut.com/l/_l0PW0HC6bcre

the length of the side of the regular

pentagon?

A.6cm

B.8 cm

C.7cm

D.5cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l0PW0HC6bcre

10. If the length and breadth of a rectangle are

in the ratio 13: 8 and its perimeter is 420 m,

then find the area of the rectangle.

A. 12000m>

B. 9400m>

C. 1040m>

D. Square

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BS5EIeWs34jw

1. If the ratio between the length and the

perimeter of a rectangular plot is 1:3, then the

ratio between the length and breadth of the

plotis 1:2 (b) 2:1(c) 3:2 (d) 2:3

Al:2

B.2:1

C.3:2

D.2:3

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_Hvzi7IR2UpMr

12. A room is 14.4 m long and 6.4 m wide. Its

floor is to be covered with rectangular tiles of

size 24 cm by 16 cm. Find the total cost of tiles

at Rs. 15 per tile.

A. Rs. 26000

B. Rs. 2400

C. Rs. 36000

D. Rs. 32000


https://dl.doubtnut.com/l/_Hvzi7IR2UpMr
https://dl.doubtnut.com/l/_l7rtkPf9FfYl

Answer: C

o Watch Video Solution

13. The area of a rectangular field is 9600m?
and its length is 120 m. Find the cost of
fencing the field at Rs. 6 per metre.

A. Rs. 2000

B.Rs. 2400

C. Rs. 2600

D. Rs. 2200


https://dl.doubtnut.com/l/_l7rtkPf9FfYl
https://dl.doubtnut.com/l/_4E4RUauArKJr

Answer: B

o Watch Video Solution

14. Find the cost of fencing a regular

octagonal field with each side measuring 15 m

at the rate of Rs. 34 per metre.

A.Rs. 2040

B. Rs. 1200

C.Rs. 4080

D. Rs. 3640


https://dl.doubtnut.com/l/_4E4RUauArKJr
https://dl.doubtnut.com/l/_aHYoNcdwXHwb

Answer: C

o Watch Video Solution

15. What is the area of the shaded part in the

figure below?



https://dl.doubtnut.com/l/_aHYoNcdwXHwb
https://dl.doubtnut.com/l/_AGT80xxlj3FN

A. 16cm?

B. 24cm?

C. 32cm?

D. 48cm?

Answer: C

° Watch Video Solution

Exercise Match The Following


https://dl.doubtnut.com/l/_AGT80xxlj3FN

1. Match the following.

List-1

(P) Penimeter of the 1.
square with side 8 cm =

Q) Penimeter ol the i
regular pentagon with
side 10 em =

(R) Areaof a square whose 3 22 om’
side 1s 4 cm =

(S) Area of a rectangle 4 léan?®
with length 5.50 cm and
breadth 4 cm -

i o8l

A. P-2,0Q-1,R-4,5-3

B. P-1, 0-4, R-3,S-2

C.P-2,Q-4,R-1,S-3

D. P-4, Q-3,R-2, S-1


https://dl.doubtnut.com/l/_5kxNWQyMqVHZ

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5kxNWQyMqVHZ

2. Match the following.

List-1 List-11

(P Perimeter of 1. 5.2m”
2 cm

4 -:m< >.‘- <

i em Tem
Q) Areaof 2 36m-

= = 15m =

I3m

(K) ."'krtlaulT T= 3. 105 om
& m
{5) Perimeter of 4. 17 em
| em * '.__: £m
= ‘ .

A. P-1,0Q-2,R-3,5-4

B. P-4, Q-3, R-2, 5-1


https://dl.doubtnut.com/l/_PxRYeTvs45SI

C.P-4,Q-1,R-2,S-3

D.P-1,Q-3, R4, S-2

Answer: C

° Watch Video Solution

Exercise Assertion Reason Type

1. Assertion : Breadth of the rectangle whose

perimeter 160 cm and length 16 cm is 10 cm.


https://dl.doubtnut.com/l/_PxRYeTvs45SI
https://dl.doubtnut.com/l/_AWYlgSCCHe5V

Reason : Perimeter of a rectangle = 2(length +

breadth)

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true

and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_AWYlgSCCHe5V

Answer: D

o Watch Video Solution

2. Assertion : Perimeter of the regular hexagon

with side 7 cm is 42 cm.

Reason : Perimeter of a n-sided regular closed

figure =n X [length of one side]

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_AWYlgSCCHe5V
https://dl.doubtnut.com/l/_QqElWUBZYk4l

B.If both assertion and reason are true

and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QqElWUBZYk4l

3. Assertion : Side of the square whose area is

225sg. mis 15 m.

Reason : The standard unit of area is sq. units.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true

and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_xr7iyMAaUHpk

D. If assertion is false but reason is true.

Answer: B

° Watch Video Solution

4. Assertion : The length of rectangle of area
135¢m? and breadth 9 cm is 15 cm.
Reason : Length of the rectangle = Area X

Breadth


https://dl.doubtnut.com/l/_xr7iyMAaUHpk
https://dl.doubtnut.com/l/_TcU8DlQznQDu

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B.If both assertion and reason are true

and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TcU8DlQznQDu

5. Assertion : If a square, a rectangle and
triangle are all made from a string of length
30 cm, their perimeters will be same.

Reason Sides of square, rectangle and triangle

are of same length.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_TcU8DlQznQDu
https://dl.doubtnut.com/l/_owLzvKJXLXeV

B.If both assertion and reason are true

and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

° Watch Video Solution

Exercise Comprehension Type


https://dl.doubtnut.com/l/_owLzvKJXLXeV
https://dl.doubtnut.com/l/_SQmM5duqiwRe

1. Area of arectangle = L x B

Perimeter of a rectangle = 2(L + B) where L and
B are the length and breadth of the rectangle
respectively.

The area of a rectangle whose length 20 cm

and breadth 15 cm is

A. 105¢m>

B. 300cm?

C. 35¢cm?

D. 30cm?


https://dl.doubtnut.com/l/_SQmM5duqiwRe

Answer: B

o Watch Video Solution

2. Area of arectangle = L x B

Perimeter of a rectangle = 2(L + B) where L and
B are the length and breadth of the rectangle
respectively.

The breadth of a rectangle of length 4 m and

area 8.4m? is

A 21m


https://dl.doubtnut.com/l/_SQmM5duqiwRe
https://dl.doubtnut.com/l/_p3YUBybU00Gw

B.1.2m

C.4.2m>

D. 2.1m?

Answer: A

o Watch Video Solution

3.Area of arectangle = L X B
Perimeter of a rectangle = 2(L + B) where L and

B are the length and breadth of the rectangle

respectively.


https://dl.doubtnut.com/l/_p3YUBybU00Gw
https://dl.doubtnut.com/l/_o7i3Y3sDKqWj

Find the area of a rectangular park whose

perimeter is 300 and breadth is 50 m.

A. 500m?

B. 100m

C. 5000m>

D. 100072

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_o7i3Y3sDKqWj

4. Two plots of land have same perimeter. One
is a square of side 40 m while the other is a
rectangle whose breadth is 15m.
What is the length of a rectangular plot ?

A. 65 cm

B.160 m

C.165 m

D.65 m

Answer: D

I ° Wiak hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_PyXsCfkooQDP

YVOILLIL VI INAGINIE L J)

5. Two plots of land have same perimeter. One

is a square of side 40 m while the other is a

rectangle whose breadth is 15m.

What is the area of the square plot ?

A. 160m>

B. 1600m>

C. 1650m2

D. 1720m>


https://dl.doubtnut.com/l/_PyXsCfkooQDP
https://dl.doubtnut.com/l/_Nk3hefJML3wW

Answer: B

o Watch Video Solution

6. Two plots of land have same perimeter. One
is a square of side 40 m while the other is a
rectangle whose breadth is 15m.

Which of the plots have greater area and by

how much ?

A. Rectangle, 625m >

B. Square, 825m?


https://dl.doubtnut.com/l/_Nk3hefJML3wW
https://dl.doubtnut.com/l/_IR60TfsQlCzs

C. Square, 62512

D. Rectangle, 975m

Answer: C

° Watch Video Solution

Exercise Subjective Problems Very Short Answer

Type

1. Convert 563mm? into cm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_IR60TfsQlCzs
https://dl.doubtnut.com/l/_sDEhalwChZc5

2. What is the area of a square with each side

16 cm ?

o Watch Video Solution

3. Find the perimeter of a regular hexagon

with one side measuring 0.7 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_sDEhalwChZc5
https://dl.doubtnut.com/l/_gGdZBVN3JLgu
https://dl.doubtnut.com/l/_5VdzZb6WoFjP

4. Find the perimeter of the given figure.

T CImh

4 om
1 em

° Watch Video Solution

5. What is the area of rectangle ABCD?
i .

;
3
&
A



https://dl.doubtnut.com/l/_BtXwEY4Bhlmh
https://dl.doubtnut.com/l/_rYZI45m5dhSc

° Watch Video Solution

6. What will be the perimeter of a 12-sided

regular figure of side 122 m ?

o Watch Video Solution

7. What is the distance travelled in taking five

rounds of a regular octagon of side 6cm ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rYZI45m5dhSc
https://dl.doubtnut.com/l/_RmH3j1wFlqns
https://dl.doubtnut.com/l/_UPAJ4mtFY81e
https://dl.doubtnut.com/l/_OJXY0za8ZTMu

8.Find the side of a square whose perimeter is

80cm?

o Watch Video Solution

9. Find the perimeter of an isosceles triangle
with equal sides 5 cm each and unequal side 7

cam.

o Watch Video Solution



https://dl.doubtnut.com/l/_OJXY0za8ZTMu
https://dl.doubtnut.com/l/_cjiU4eFDOmIV

10. Find the length of a rectangle whose area

is 300cm? and the breadth is 15 cm.

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Find the area of the following figure by

counting squares.


https://dl.doubtnut.com/l/_o94e8yBg45Nh
https://dl.doubtnut.com/l/_ZQHY5VSWLson

° Watch Video Solution

2. A tile measures 10cm x 10cm. How many
such tiles are required to cover a wall

Ym X 2.5m ?


https://dl.doubtnut.com/l/_ZQHY5VSWLson
https://dl.doubtnut.com/l/_JouA2V8jqlIr

° Watch Video Solution

3. Find the cost of tiling the floor of a room at
the rate of Rs. 8 per m?, where the room

measure 250 m long and 100 m broad.

° Watch Video Solution

4. What happens to the area of a square when

its side is increased by 4 times ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JouA2V8jqlIr
https://dl.doubtnut.com/l/_fT6WcAb87Jqa
https://dl.doubtnut.com/l/_KsFIFlyedGYb

5. What is the area of a square, if its perimeter

is44 cm ?

° Watch Video Solution

6. The area of a square of side 16 cm is the
same as that of a rectangle of length 64 cm.

What is the breadth of the rectangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_KsFIFlyedGYb
https://dl.doubtnut.com/l/_Z1dVxIx4fNkh
https://dl.doubtnut.com/l/_Aao45pEhHV4D
https://dl.doubtnut.com/l/_3iNfmuLyJWwW

7. What is the area of a rectangle (in cem?)

whose sides are 5.4 cm and 1m ?

o Watch Video Solution

8. The perimeter of a rectangle having breadth

10 cm is 128 cm, what is its area ?

° Watch Video Solution

9. The perimeter of an equilateral triangle is

168 m. What is the length of the side of the


https://dl.doubtnut.com/l/_3iNfmuLyJWwW
https://dl.doubtnut.com/l/_j2SxrLsVZRg9
https://dl.doubtnut.com/l/_dLPRUueo6zcU

equilateral triangle ?

o Watch Video Solution

10. The length of a rectangular plot of land is
twice its breadth. If the perimeter of the plot

be 420 m, find its area.

o Watch Video Solution

Exercise Subjective Problems Long Answer Type


https://dl.doubtnut.com/l/_dLPRUueo6zcU
https://dl.doubtnut.com/l/_EBNsRAr98Km3

1. Find the cost of cultivating a rectangular
field 34 m long and 18 m wide at Rs. 4.50 per
sg. metre. Also, find the cost of fencing the

field at Rs. 2.25 per metre.

o Watch Video Solution

2. Find the perimeter of the given figure (not

drawn to scale).

IBem
26 cm 47 em
4.4 cm &3 cm
4.6 cm
”“':‘1::“1 72 em
Pt __J43em
36 cm 45 om B2 cm
1.4 cm 1.7 am

LY


https://dl.doubtnut.com/l/_heTuswADeYdd
https://dl.doubtnut.com/l/_jtA4WmIZlFwT

° Watch Video Solution

3. The length and breadth of play ground are
5m 20 cm and 3m 80 cm respectively. Find the
area of the playground. Also find the cost of

levelling it at Rs. 6.5 per square metre.

o Watch Video Solution

4. A rope of length 60 cm is cut into two

pieces. One piece is used to form a rectangle


https://dl.doubtnut.com/l/_jtA4WmIZlFwT
https://dl.doubtnut.com/l/_otGDOYkODtZ2
https://dl.doubtnut.com/l/_J0xWBrpAa1Pw

of length 12 cm and width 6 cm. The other
piece is bent into a regular hexagon. What is

the length of each side of the hexagon ?

° Watch Video Solution

5. The given shape is divided into a square and

two rectangles.


https://dl.doubtnut.com/l/_J0xWBrpAa1Pw
https://dl.doubtnut.com/l/_raykPWxSUYis

What is the area of square X ?

4 I ¥ -

° Watch Video Solution

6. The given shape is divided into a square and
two rectangles.

What is the length of rectangle Y ? What is the


https://dl.doubtnut.com/l/_raykPWxSUYis
https://dl.doubtnut.com/l/_yrd4vcg51zFf

area of rectangle Y?

+ | Y :

o Watch Video Solution

7.The given shape is divided into a square and

two rectangles.


https://dl.doubtnut.com/l/_yrd4vcg51zFf
https://dl.doubtnut.com/l/_zXcrsSBInTkE

What is the area of rectangle 7?

- i | Y .

° Watch Video Solution

8. The given shape is divided into a square and

two rectangles.


https://dl.doubtnut.com/l/_zXcrsSBInTkE
https://dl.doubtnut.com/l/_Z2feSJK8SsjX

What is the area of the given shape ?

'illlé Y

° Watch Video Solution

Exercise Subjective Problems Integre Numerical

Value Type



https://dl.doubtnut.com/l/_Z2feSJK8SsjX

1. An athlete runs a total distance of 4800 m
around a square field of side 200 m. How many

rounds of the field did the athlete take ?

o Watch Video Solution

2. An area of rectangular floor with dimensions
90 cm and 40 cm is to be paved with square
tiles of side 20 cm. How many such tiles will be

required ?

o Watch Video Solution



https://dl.doubtnut.com/l/_A0Xj4osuEzkK
https://dl.doubtnut.com/l/_6TFOqsGgQpOs

3. Find the perimeter (in m) of the given figure.

[ 2 m C
1m./ :
& i
AL ' 2m
'll:l::\ ___l
E 2 m B

o Watch Video Solution

4. What is the side (in cm) of a square whose

areais 25¢m? ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6TFOqsGgQpOs
https://dl.doubtnut.com/l/_FCj8Vv57WSXZ
https://dl.doubtnut.com/l/_4mF5t6MEwJiT

5. What is the length of side (in cm), if

perimeter of a regular octagon is 120 cm ?

o Watch Video Solution

6. If the length of a rectangular plot is 4 cm
and its perimeter is 14 cm. Find the breadth (in

cm) of the rectangular plot.

o Watch Video Solution



https://dl.doubtnut.com/l/_4mF5t6MEwJiT
https://dl.doubtnut.com/l/_s1T8v4FgQZSj
https://dl.doubtnut.com/l/_iRCiIs211Djj
https://dl.doubtnut.com/l/_GkFsNsQgyYol

7. What is the area of a square (in cmz), if its

perimeter is 32 cm ?

o Watch Video Solution

8. What is the length of a rectangle (in m), if

its area is 2m? and breadth is Em ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GkFsNsQgyYol
https://dl.doubtnut.com/l/_rZivx9g3cBIw

9. By how much is the area of rectangle (in
cm?) of sides 2 cm and 1.5 cm greater than the

area of a square of side 1em ?

o Watch Video Solution

10. What is side (in cm) of a square box whose

perimeter is 68 cm ?

o Watch Video Solution

Olympiad Hots Corner


https://dl.doubtnut.com/l/_qlBEhDwKSHrh
https://dl.doubtnut.com/l/_SVIPmlt5wiya

1. Find the area of the following figure (not

drawn to scale) by splitting into rectangles.

§ v

[ cmm

o Watch Video Solution



https://dl.doubtnut.com/l/_mt5zLaaHCLSZ

2. The diagram below shows a framed picture.

Find the area of the picture.

| 2 em

vvvvvvv

A. 48cm?

B. 39¢cm?

C. 92cm?

D. 120cm?

14 i



https://dl.doubtnut.com/l/_mt5zLaaHCLSZ
https://dl.doubtnut.com/l/_kEJL2twzKgHe

Answer: A

o Watch Video Solution

3. Priya used four similar rectangular carpets
and a square carpet for the flooring in her

study room as shown below.

i m

If it cost her Rs. 6 per square metre for the

rectangular carpets and Rs. 8 per square


https://dl.doubtnut.com/l/_kEJL2twzKgHe
https://dl.doubtnut.com/l/_BoLCpfpMJMIP

metre for the square carpet, how much did

she pay in all ?

A. Rs. 512

B. Rs. 600

C.Rs. 417

D. Rs. 416

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BoLCpfpMJMIP

4. The given rectangle is made up of 12

squares. Find the area of the shaded region.

Lllll

A. 60cm?

B. 48cm?

C. 96cm?

D. 24cm?


https://dl.doubtnut.com/l/_qRo70dg3K8eA

Answer: C

° Watch Video Solution

5. Study the given statements carefully and
select the correct option.

Statement - | : If the side of a square is halved,
then the new perimeter is two times the
original perimeter.

Statement - Il : If the perimeter of a regular
pentagon is 35 cm, then the length of its each

side is 5 cm.


https://dl.doubtnut.com/l/_qRo70dg3K8eA
https://dl.doubtnut.com/l/_oa6LqzBiVPvA

A. Both Statement-l and Statement-ll are

true.

B. Both Statement-l and Statement-ll are

false

C.Statement - | is true but Statement-ll is

false.

D. Statement-l is false but Statement-ll is

true.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oa6LqzBiVPvA

6.1f ABCD and PQRS are two identical squares,

then find the area of the shaded region.

|0 com

A. 180cm?

B. 170cm?


https://dl.doubtnut.com/l/_oa6LqzBiVPvA
https://dl.doubtnut.com/l/_VFuClHfQlKoq

C. 194cm?

D. 173cm?

Answer: C

o Watch Video Solution

7. In Fig. 615 all triangles are equilateral and
AB =8 units. Other triangles have been formed

by taking the mid points of the sides. What is


https://dl.doubtnut.com/l/_VFuClHfQlKoq
https://dl.doubtnut.com/l/_EjiLk7F6mVOZ

the

perimeter

A

of

A. 92 units

B. 93 units

C. 91 units

D. None of these

the

figure?


https://dl.doubtnut.com/l/_EjiLk7F6mVOZ

Answer: B

o Watch Video Solution

8. The given figure is made up of one big
square of side 5 cm and 3 identical small

squares of side x cm each. Find the perimeter


https://dl.doubtnut.com/l/_EjiLk7F6mVOZ
https://dl.doubtnut.com/l/_EODSPrkNPvQQ

of the figure in terms of x.

A. (20 + 6z)cm
B. (20 + 5z)cm
C.(18 + 7x)cm

D. (20 + 9z)cm


https://dl.doubtnut.com/l/_EODSPrkNPvQQ

Answer: A

o Watch Video Solution

9. Manju runs around a rectangular park of
length 35 m and breath 20 m. Meenu runs
around a square park of side 30 m. Who covers
less distance and by how much if Meenu takes
4 rounds and Manju takes 3 rounds

completely ?

A. Meenu, 150 m


https://dl.doubtnut.com/l/_EODSPrkNPvQQ
https://dl.doubtnut.com/l/_xHZHE6oF3ZiE

B. Manju, 120 m

C. Manju, 150m

D. Meenu, 120 m

Answer: C

o Watch Video Solution

10. Find the number of envelopes that can be
made out of a sheet of paper 384 cm by 168
cm, if each envelope requires a piece of paper

of size 16 cm by 12 cm.


https://dl.doubtnut.com/l/_xHZHE6oF3ZiE
https://dl.doubtnut.com/l/_3x4zg2ZvvhpI

A. 340

B.344

C.336

D. 342

Answer: C

o Watch Video Solution

11. Select the incorrect match, if figures (not
drawn to scale) are made up of identical

squares and identical equilateral triangles of


https://dl.doubtnut.com/l/_3x4zg2ZvvhpI
https://dl.doubtnut.com/l/_AxBfnp2rzurL

side 3 cm each.

Figures Perimeter {in cm}

S v v A

id) 6

o Watch Video Solution

12. In the given figure (not drawn to scale),

AABC, AEFG,AKIJ and ANMO are 4


https://dl.doubtnut.com/l/_AxBfnp2rzurL
https://dl.doubtnut.com/l/_97Z3iMoBXk6V

different equilateral triangles. Find the
perimeter of the figure, if side of square PDHL
is 8 cm, AC =4cm, EG =2 cm, KI =3 cm and MO

=2cm.

A. 34 cm


https://dl.doubtnut.com/l/_97Z3iMoBXk6V

B.64 cm

C.43 cm

D.52 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_97Z3iMoBXk6V

13. Find the area of the given figure.

2 e
1.5 em
3 oy 1 em
2 ¢m ! | cm

3o 3 em

o -
A. 25.5sg.cm
B.23.5sq.cm
C.25sg.cm

D. 24 sq.cm


https://dl.doubtnut.com/l/_zPffMmAnqtYB

Answer: A

o Watch Video Solution

14. Five square flower beds each of sides 1.2 m

are dug on a piece of land 4.8 m long and 4.2

m wide. What is the area of the remaining part

of the land ?

A.12.69sg.m

B.12.96 sq. m

C.11.96sq. m


https://dl.doubtnut.com/l/_zPffMmAnqtYB
https://dl.doubtnut.com/l/_uuWYNqX2EO1B

D. 144 sq. m

Answer: B

o Watch Video Solution

15. Find the perimeter of the given figure.

1 cmm S om "
El|+ ~||& +om
"" :Ii:-__"' i

r 113
fyem — = E -
E | J+ =

& rm 1 om


https://dl.doubtnut.com/l/_uuWYNqX2EO1B
https://dl.doubtnut.com/l/_yDxAG64Hu5oD

A.17 cm

B. 68 cm

C.43 cm

D. 96 cm

Answer: B

o Watch Video Solution

16. The cost of making a fence around a square
field is Rs. 392 at the rate of Rs. 14 per metre.

What is the length of each side of the field ?


https://dl.doubtnut.com/l/_yDxAG64Hu5oD
https://dl.doubtnut.com/l/_XPLMyWlMabt1

A.7/m

B.8m

C.8cm

D.7 cm

Answer: A

o Watch Video Solution

17. PQRS is a rectangle. When the length and
breadth of the rectangle increases, the

rectangle is enlarged to VWRT and the area of


https://dl.doubtnut.com/l/_XPLMyWlMabt1
https://dl.doubtnut.com/l/_WtQqf5YNsdH8

the rectangle is enlarged by 226cm?. If the
length of rectangle PQRS is twice its breadth.
Find

(i) Perimeter of rectangle PQRS.

(i) Area of rectangle VWRT.

4 iR

- -
I - &
' 4-.I||I
- . -...I-l
- 15 ™
L &
. i

A. (i) - 105 cm, (ii) 388.5¢m>

B. (i) - 105 cm, (ii) - 838.5¢cm?


https://dl.doubtnut.com/l/_WtQqf5YNsdH8

C. (i) - 108 cm, (ii) - 838.5¢cm>

D. (i) - 108 cm, (ii) - 388.5¢cm

Answer: B

o Watch Video Solution

18. ABCD and PQRS are two squares of same

dimensions. Find the area of shaded part.


https://dl.doubtnut.com/l/_WtQqf5YNsdH8
https://dl.doubtnut.com/l/_hEQ4Lz4p46cm

A.49 cm

B. 49¢m?

C. 196¢cm?

D. 196 cm

Answer: C



https://dl.doubtnut.com/l/_hEQ4Lz4p46cm

\ o View Text Solution

19. Figure P is made up of six identical squares.
Two squares were removed from figure P to
form figure Q. The perimeter of figure P is 240

cm. What is the perimeter of figure Q ?

Figure P Figure

A. 220 cm


https://dl.doubtnut.com/l/_hEQ4Lz4p46cm
https://dl.doubtnut.com/l/_RnPmMp0xOSBG

B. 180 cm

C.200 cm

D. 160 cm

Answer: C

o Watch Video Solution

20. The given figure is made up of 10 squares

of the same size. The perimeter of the figure is


https://dl.doubtnut.com/l/_RnPmMp0xOSBG
https://dl.doubtnut.com/l/_ascSFEmdBUM8

80 cm. Find the area of the figure.

A. 250cm>

B. 150cm?

C. 280cm?

D. 190cm?


https://dl.doubtnut.com/l/_ascSFEmdBUM8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ascSFEmdBUM8

